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SSC CGL EXAM -2016-17
Full  length M ock  paper-1  

Part-A. GENERAL INTELLIGENCE AND REASONING  

lkekU; cqf+)eRrk rFkk rdZ”kfDr  

Directions (1–10) : In each of the following questions, select the related letter/word/ figure/ number from the given alternatives. 
funsZ'k (1&10) % fuEu iz'uksa esa ls izR;sd iz'u esa fn, fodYiksa esa ls lEcfU/r v{kj@'kCn@vkÑfr@ la[;k dks pqfu, A 
1.  –ly : ? :: ADVERB : ADJECTIVE 

 –ly : ? :: fØ;k fo'ks"k.k : fo'ks"k.k 
 (a) –ion  (b) –ful  
 (c) –ity  (d) –ily 
2.  Iron : Fe :: Silver : ? 
 yksgk % FE %% pk¡nh % \ 
 (a) Na  (b) Ci  
 (c) Ag  (d) K 
3.  Warm : Hot :: ? : Hilarious 
 xquxquk % xeZ %% \ % etkd 

(A) Humid/ue        (B) Raucous/xaHkhj  
(C) Summer/xzh"e       (D) Amusing/fnypLi 

4.  Careful : Alert :: ? : Subservient 
 lko/kku % lrdZ %% \ % vkKkdkjh 

(A) Meek/fouez       (B) Above/Js"B 
(C) Cranky/fofp=k       (D) Upright/lPpk 

5.  ? : Horse :: Board : Train 
 \ % ?kksM+k % % p<+uk % jsyxkM+h 

(A) Stable/vLrcy       (B) Mount/lokj gksuk 
(C) Shoe/uky yxkuk       (D) Ride/?kqM+lokjh 

6.  Tureen : ? :: Goblet : Wine 
 Mksaxk % \ %% I;kyk % efnjk 

(A) Napkin/uSidhu       (B) Soup/lwi 
(C) Spoon/pEep        (D) Pot/crZu 

7.  Denim : Cotton :: ? : Flax 
 Msfue % dikl %% \ % /kkxk 

(A) Sheep/HksM         (B) Uniform/onhZ 
(C) Sweater/LosVj       (D) Linen/ysfuu 

8.  Son : Sun :: ? : Sew 
 (A) So                             (B) Sob  
 (C) Needle                      (D) Daughter 
9.  Merry Christmas : 09 :: Happy New Year : ? 
 (A) 16  (B) 40  
 (C) 64  (D) 46 
10.  PRMQ : SUPT :: DFAE : ? 
 (A) MOJN  (B) GIDH  
 (C) HJEI  (D) SUPR 
Directions (11–18) : Find the odd word/letter/ number from the given alternatives. 
funsZ'k (11&18)% fn;s x, fodYiksa esa ls fo"ke 'kCn@v{kj@la[;k dks pqfu,A 

11.   (a)  (b)  (c)  (d)  

12.  (A) Ranchi/jk¡ph         (B) Nagpur/ukxiqj 
 (C) Bangalore/caxykSj    (D) Bhopal/Hkksiky 

13.  (a)  (b)  (c)  (d)   
14.  (A) X (B) V (C) S (D) H 
15.  (A) Boyfriend/izseh  (B) Brother/HkkbZ 

(C) Girlfriend/izsfedk  (D) Father/firk 
16.  (A) FII (B) OFF (C) IFF (D) EPP 
17.  (A) H   (B) Q  
 (C) T   (D) Z 
18.  (A) 448 (B) 46 (C) 1584 (D) 4 
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19.  Vivek walks 5 km towards South, then he walks 3 km turning to right. Again he turns to his right and walks 5 km. He then turns to his left and 
walks 5 km. How far is he now from the starting point ? 

 foosd 5 fdeh- nf{k.k dh vkSj pyrk gS] rc og nk,a eqM+dj 3 fdeh- pyrk gSA fiQj og nk,a eqM+dj 5 fdeh pyrk gSA rc og vius ck,a eqM+dj 5 fdeh- 

pyrk gSA vc og izkjafHkd fcanq ls fdruk nwj gS \ 

(A) 3 kms/fdeh-   (B) 5 kms/fdeh-  
(C) 8 kms/fdeh   (D) 6 kms/fdeh- 

20.  Tarun‟s age is the cube of a whole number. It was square of another whole number two years ago. How long he must wait before his age is again 
the cube of a whole number ? 

 r:.k dh vk;q ,d iw.kZ la[;k dk ?ku gSA nks o"kZ igys og ,d nwljs iw.kZ la[;k dk oxZ FkkA mldh vk;q dks ,d iw.kZ la[;k dk ?ku gksus ds fy, mls fdruh 

izfr{kk djuh gksxh \ 

(A) 2 years/o"kZ        (B) 10 years/o"kZ 
 (C) 37 years/o"kZ   (D) 39 years/o"kZ 

21.  If GERMANY is written as 7, 5, 18, 13, 1, 14, 25. How can FRANCE be written in that code ? 
 ;fn GERMANY dks 7, 5, 18, 13, 1, 14, 25 fy[krs gS FRANCE dks mlh dwV esa dSls fy[k ldrs gS \ 
 (A) 6, 18, 1, 14, 3, 5  (B) 6, 3, 18, 14, 1, 5 
 (C) 8, 2, 14, 5, 13, 6 (D) 8, 16, 14, 3, 1, 5 
22.  Choose the correct alternatives from the given ones that will complete the series. 
 fn, x, fodYiksa esa ls lgh fodYi dk p;u djsa tks fd J`a[kyk dks iwjk djsxkA 

 _zy_zxy_yxzx_zyx_xy 
 (A) yxzyz  (B) zxyzy  
 (C) yzxyx  (D) xyzzy 
Directions (23-25): From the given options choose the missing number/letter. 
funsZ'k (23-25): fn, x, fodYiksa esa ls yqIr la[;k@v{kj Kkr dhft,A 
23.  

80 60 ? 

40 30 12 

60 50 30 

 (A) 48  (B) 64  
 (C) 96  (D) 32 
24.  

7 9 10 

4 8 6 

2 3 4 

14 ? 15 

 (A) 20  (B) 24  
 (C) 28  (D) 32 
25.  

 
 (A) 5 (B) 6 (C) 8 (D) 9 
26.  Statements/dFku% 
 All players are doctors. 
 lHkh f[kykM+h MkWDVj gSA 

 Some doctors are actors.  
 dqN MkWDVj vfHkusrk gSA 

 Conclusions/fu"d"kZ% 

 1.  Some doctors are players as well as actors. 
  dqN MkWDVj f[kykM+h ds lkFk&lkFk vfHkusrk Hkh gSaA 

 2.  All actors are doctors.  
  lHkh vfHkusrk MkWDVj gSA 

  (A) Only conclusion (1) follows 

      dsoy fu"d"kZ (1) vuqlj.k djrk gS 

  (B) Only conclusion (2) follows 

      dsoy fu"d"kZ (2) vuqlj.k djrk gS 

  (C) Both (1) or (2) follows 

      fu"d"kZ (1) rFkk (2) nksuksa vuqlj.k djrs gSA 

  (D) Neither Conclusion (1) nor (2) follows 
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         u rks fu"d"kZ (1) u gh fu"d"kZ (2) vuqlj.k djrk gS 

27.  Today is Varun‟s birthday. One year, from today he will be twice as old as he was 12 years ago. How old is Varun today ? 

 vkt o:.k dk tUefnu gSA vkt ls ,d o"kZ i'pkr og vius 12 o"kZ igys ds mez dk nksxq.kk gks tk,xkA vkt orZeku esa o:.k dh vk;q fdruh gS \ 

(A) 20 years/o"kZ (B) 22 years/o"kZ 
(C) 25 year/o"kZ (D) 27 years/o"kZ 

28. From the given responses, choose the response which shows meaningful order of the following words ? 
 fn, x, fodYiksa esa ml fodYi dk p;u djsa tks fn, x, 'kCnksa ds lkFkZd Øe dks n'kkZrk gSA 

1. Weekly/lkIrkfgd   2. Daily/izfrfnu 
3. Monthly/ekfld   4. Fortnightly/ikf{kd 
5. Bimonthly/f}ekfld 

 (A) 1, 4, 3, 2, 5 (B) 2, 1, 4, 3, 5 (C) 4, 1, 2, 3, 5 (D) 5, 1, 2, 3, 4 
29.  P‟s age is equal to Q. R is younger than S. T is younger than R but elder than P. Who is the eldest ? 

 P dh vk;q Q ds cjkcj gSA R, S ls NksVk gSA T, R ls NksVk gS ysfdu P ls cM+k gSA buesa lcls cM+k dkSu gS \  

 (A) P (B) Q (C) S (D) R 
30.  From the given alternatives, select the word which can‟t be formed using the letters of the given word. 
 fn, gq, fodYiksa esa ls ml 'kCn dks pqfu, tks fn, x, 'kCn esa 'kkfey v{kjksa ls ugha cuk;k tk ldrkA 

 RATIONALE 
 (A) RATION (B) TRAIL (C) TONER (D) RELATE 
31.  Find the wrong number in the given series. 
 fn;s x;s Jà[kyk esa xyr la[;k dk p;u djsaA 

 9, 16, 25, 36, 49, 61  
 (A) 16 (B) 9 (C) 49 (D) 61 
32.  Neha while introducing Vivek to her husband said, “His brother‟s father is the only son of my Grandfather”. How is Neha related to Vivek ? 
 foosd dk ifjp; nsrs gq, usgk vius ifr ls dgk] mlds HkkbZ ds firk esjs nknk dk bdykSrk iq=k gSA usgk] foosd ls fdl izdkj lacaf/kr gS \ 

(A) Aunt/pkph (B) Sister/cgu 
(C) Niece/Hkrhth (D) Mother/ekrk 

33.  If in a certain code, DAUGHTER is written as TERDAUGH, how will APTITUDE be written in that code ? 
 ;fn fdlh fuf'pr dwV Hkk"kk esa] DAUGHTER dks TERDAUGH fy[krs gaS] mlh dwV Hkk"kk eas APTITUDE dks dSls fy[ksaxs \ 

 (A) DEUAPTIT (B) UDEAPTIT 
 (C) DUEAPTIT (D) DAUEPTIT 
34.  C is the West of B and South-West of A. D is to the North-West of A and North of C and D is in line with A, B. In which direction from the point of 

A, B is located ? 
 C, B ds if'pe esa gS rFkk A ds nf{k.k&if'pe esa gSA D, A ds mÙkj&if'pe esa rFkk C ds mÙkj esa gS rFkk D, A vkSj B ds lkFk ,d gh js[kk esa gSA fcanq B, A ls 

fdl fn'kk esa fLFkr gS \ 

(A) North-East/mÙkj&iwoZ 
 (B) South-East/nf{k.k&iwoZ 

(C) North-West/mÙkj&if'pe 
(D) South-West/nf{k.k&if'pe 

35.  Select the correct combination of mathematical signs to replace * signs and to balance the given equation. 

 xf.krh; ladsrks ds ml lewg dk pSu djsa tks * fpgu ds LFkku ij j[kus ij fn, x, lehdj.k dks larqfyr djsaA 

 15 * 5 * 3 * 25 
 (A) = × (B) × = (C) × = (D) × = 
36.  How many points will be on the face opposite to face which contains 4 points in the given cube ? 

 fn, x, ?ku esa] 4 fcanq okys fljs ds foijhr fljs esa fdrus fcanq gS \ 

 
                                                                                   (a)            (b)          (c)          (d)  
37.  A waiter‟s income consists of his salary and tips. During one week, his tips is 5/4 of his salary. Find the fraction of his income that came from tips ? 
 ,d osVj ds vk; esa mldh osru vkSj fVIl 'kkfey gSA fdlh lIrkg ds nkSjku mldh fVIl mlds osru ds 5@4 ds cjkcj gksrh gSA Kkr djsa fd mldh vk; 

dk fdruk Hkkx fVIl ls vkrk gS \ 

 (a) 4/9 (b) 5/4 (c) 5/8 (d) 5/9  
38.  1. B5D means B is the father of D. 

    B5D dk eryc B, D dk firk gSA 
 2. B9D means B is the sister of D. 

    B9D dk eryc B, D dh cgu gSA 
 3. B4D means B is the brother of D. 

    B4D dk eryc B, D dk HkkbZ gSA 
 4. B3D means B is the wife of D. 

    B3D dk eryc B, D dh iRuh gSA 
 Which of the following means F is the mother of K ? 
 buesa ls fdldk eryc F, K dh ek¡ gSA 

 (A) F3M5K (B) F5M3K (C) F9M4N3K (D) F3M5N3K 
39.  Choose the correct alternative that will continue the same pattern and replace the question mark in the given series. 
 fn;s x;s Jà[kyk esa iz'u fpÉ dks cnydj leku iSVZu okys lgh fodYiksa dk p;u djsaA 

 589654237, 89654237, 8965423, 965423, ? 
 (A) 58965 (B) 65423 (C) 89654 (D) 96542 
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Directions (40-43): Find the missing number (?) from the given options. 
funs'Zk (40-43): fn, x, fodYiksa esa ls yqIr la[;k ¼\½ Kkr dhft, A 
40.  MES, LDR, KCQ, ? , IAO 
 (A) KCO (B) KBP (C) JCQ (D) JBP 
41.  IPMD, MSOE, ?, UYSG 
 (A) REDU (B) OXPG  (C) RTEG (D) QVQS 
42.  4, ?, 144, 400, 900, 1764 
 (A) 25 (B) 36 (C) 49 (D) 100 
43.  2, 10, 30, 68, ? 
 (A) 125 (B) 130 (C) 128 (D) 135 
44.  Statements/dFku% 
 A‟s advice to B - “Go to Jammu via Amritsar - It is the shortest route”. 
 A, B dks lykg nsrk gS& ver̀lj ls gksdj tEew tk,& ;g lcls NksVk ekxZ gSA 

Assumptions/fu"d"kZ% 
 I.  B wishes to go to Jammu. 
    B dks tEeq tkus dh bPNk gSA 

 II.  A gives advice to everybody. 
     A lHkh dks lykg nsrk gSA 

 (A) Only assumption I is implicit 

    dsoy iwokZuqeku I fufoZokn gSA 
 (B) Only assumption II is implicit 

    dsoy iwokZuqeku II fufoZokn gSA 
 (C) Either I or II is implicit 

    ;k rks iwokZuqeku I ;k II fufoZokn gSA 
 (D) Neither I nor II is implicit 

    u rks iwokZuqeku I vkSj u gh II fufoZokn gSA 
45. Which of the following diagrams indicates the best relationship between Elephant, Wolf and Animal ? 
 buesa ls dkSu&lk vkjs[k gkFkh] HksfM+;k rFkk tkuoj ds chp lgh laca/k bafxr djrk gS \ 

 (a)  (b)  (c)  (d)  
46.  Which of the answer figure is the right image of the question figure ? 
 nh xbZ mÙkj vkÑfr;ksa esa ls dkSu lh vkÑfr iz'u vkÑfr dk lgh izfrfcEc gksxh\ 

 Question figure: 
 iz'u vkÑfr% 

 

 Answer figures: 
 mÙkj vkÑfr;k¡% 

 
                                                                       (a)                     (b)                (c)                (d)  
47.  Which piece of paper will appear question figure when folded and cut as show below in answer figures ? From the given answer figures, indicate 

how will it appear when opened ? 
 uhps mÙkj vkÑfr;ksa esa fn[kk, vuqlkj fdl dkxt dks eksM+dj dkVus rFkk [kksyus ds ckn og iz'u vkÑfr tSlk fn[kkbZ nsxk \ 

 Question figure: 
 iz'u vkÑfr% 

 
 Answer figures: 
 mÙkj vkÑfr;k¡% 

 
                                                                       (a)                       (b)                  (c)                     (d) 
48.  Find out the alternative figure which contains question figure as its part ? 
 ml oSdfYid vkÑfr dk p;u djs ftlesa iz'u vkÑfr lfEefyr gS \ 
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 Questions figure : 
 iz'u vkÑfr% 

 

 Answer figures : 
 mÙkj vkÑfr;k¡% 

 

                                                                       (a)                     (b)                (c)                (d) 
49.  Identify the figure that completes the pattern of the question figure ? 
 ml vkÑfr dk p;u djsa tks iz'u vkÑfr ds iSVuZ dks iwjk djsxh \ 

 Questions figure : 
 iz'u vkÑfr% 

 
 Answer figures : 
 mÙkj vkÑfr;k¡% 

 
                                                                     (a)                       (b)                 (c)                   (d) 
50.  A word is represented by only one set of numbers as given in any one of the alternatives. The sets of numbers given in the alternatives are 

represented by two classes of letters as in two matrices given below. The columns and rows of Matrix-I are numbered from 0 to 4 and that of 
Matrix- II are numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column. E.g., „A‟ can be 
represented by 02, 14, 33 etc., and „K‟ can be represented by 57, 69, 88 etc. Similarly, you have to identify the set for the word „SOAP‟. 

 ,d 'kCn osQoy ,d la[;k&lewg }kjk n'kkZ;k x;k gS] tSlk fd fodYiksa esa ls fdlh ,d esa fn;k x;k gSA fodYiksa esa fn, x, la[;k&lewg v{kjksa ds nks oxks± 

}kjk n'kkZ, x, gSa] tSlk fd uhps fn, x, nks vkO;wg esa gSA vkO;wg&I ds LraHk vkSj iafDr dh la[;k 0 ls 4 nh xbZ gS vkSj vkO;wg&II dh 5 ls 9A bu vkO;wgksa 

ls ,d v{kj dks igys mldh iafDr vkSj ckn esa LraHk la[;k }kjk n'kkZ;k tk ldrk gSA mnkgj.k ds fy, ‘A’ dks 02, 14, 33 vkfn }kjk n'kkZ;k tk ldrk 

gS rFkk ‘K’ dks 57, 69, 88 vkfn }kjk n'kkZ;k tk ldrk gSA blh rjg ls] vkidks 'kCn ‘SOAP’ ds fy, la[;k lewg dks igpkuuk gSA 

             Matrix/vkO;wg-I                   Matrix/vkO;wg-II 
 0 1 2 3 4   5 6 7 8 9 

0 R S A C N  5 O B K E P 

1 C N R S A  6 E P O B K 

2 S A C N R  7 B K E P O 

3 N R S A C  8 P O B K E 

4 A C N R S  9 K E P O B 

 (A) 13, 55, 21, 66  (B) 01, 56, 21, 67  
 (C) 32, 56, 20, 66  (D) 20, 56, 21, 66 

PART-B. GENERAL AWARENESS 

LkkekU; tkudkjh 

51.  „Purna Swaraj‟ was announced in the Indian National Congress Session of : 
 Hkkjrh; jk"Vªh; dkaxzsl ds fdl l=k esa ^iw.kZ Lojkt* dh ?kks"k.kk dh xbZ Fkh \ 

(A) Nagpur/ukxiqj (B) Karachi/djk¡ph 
(C) Calcutta/dydÙkk (D) Lahore/ykgkSj 

52.  Which one of the following is an example of joint supply ? 
 fuEufyf[kr esa ls dkSu lk la;qDr vkiwfrZ dk mnkgj.k gS \ 

(A) Sugar and coffee/phuh vkSj dkWQh 
(B) Wool and Cotton/mu vkSj dikl 
(C) Petrol and Bus/isVªksy vkSj cl 
(D) Ink and Fountain Pen/L;kgh vkSj QkmaVsu isu 
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53. Sometimes computers and cache registers  in a foodmart are connected to a UPS system. What does UPS mean ? 
 dHkh dHkh ,d QqMekVZ esa daI;qVj vkSj ds'k jftLVj ;wihl iz.kkyh ls tqM+s gksrs gSA ;wih,l ls D;k rkRi;Z gS \ 

(A) United Parcel Service/;qukbVsM iklsZy lfoZl 
 (B) Uniform Product Support/;qfuiQkeZ izksMDV liksVZ 

(C)Under Paneling Storage/vMj iSusfyax LVksjst 
 (D) Uninterruptable Power Supply/vubUVjsIVscy ikoj lIykbZ 
54. Who among the following has been the Indian recipient of Nobel Peace Prize is : 
 ukscsy 'kkafr iqjLdkj ds Hkkjrh; izkIrdrkZ buesa ls dkSu gS \ 

(A) Mother Teresa/enj Vsjslk 
(B) Amartya Sen/veR;Z lsu 
(C) Hargovind Khurana/gjxksfoUn [kqjkuk 
(D) Rabindra Nath Tagore/johUnzukFk VSxksj 

55.  In the UK, what type of installation requires a fireman‟s switch ? 
 fczVsu esa] fdl izdkj ds laLFkkiu dks Qk;jeSu Lohp dh vko';drk gksrh gS \ 

(A) Neon Lighting/fu;kWu izdk'k O;oLFkk 
(B) High Pressure Sodium Lighting/mPp nkc lksfM;e izdk'k O;oLFkk 
(C) Water Features/ty lqfo/k,a 
(D) Hotel Rooms/gksVy ds dejs 

56.  Sahara Desert is in the continent of : 
 lgkjk e:LFky fdl egk}hi esa fLFkr gS \ 

(A) Africa/vQzhdk   (B) Asia/,f'k;k 
(C) Europe/;wjksi   (D) America/vesfjdk 

57.  The electromagnetic coils on the neck of the picture tube or tubes which pull the electron beam from side to side as well as up and down are called 
a....... 

 fiDpj V~;qc ;k V~;c dh xnZu ij yxh fo|qr pqEcdh; dkW;y tks bysDVkWu che dks ,d fljs ls nwljs fljs vkSj mij ls uhps dh rjQ [kh aprh gS] og D;k 

dgykrh gS\ 

(A) Transformer/VªkalQkeZj  (B) Yoke/;qXed 

(C) Capacitor/la/kfj=k  (D) Diode/Mk;ksM 
58.  The medicinal plant used in preparations for skin care is : 
 Ropk dh ns[kHkky esa dkSu lk vkS"k/kh; ikS/kk iz;ksx fd;k tkrk gS \ 

(A) Aloe vera/,yksfojk  (B) Rauwolfia/jkoksfYQ;k 
(C) Cinchona/fludksuk  (D) Amla/vk¡oyk 

59.  Which process is responsible for  amplification of the light after the first photon light produces ? 967559617  
 dkSu lh izfØ;k igys iQksVkWu izdk'k ds mRiknu ds ckn izdk'k ds izo/Zu ds fy, ftEesnkj gS \ 

(A) Blackbody radiation/CySd ckWMh fofdj.k 
(B) Stimulated emission/izsfjr mRltZu 
(C) Planck‟s radiation/IySad~l fofdj.k 
(D) Einstein oscillation/vkbaLVhu~l nksyu 

60.  Ashoka embraced Buddhism : 
 v'kksd us ckS) /keZ dc viuk;k Fkk \ 

(A) Just before his death/mudh eR̀;q ls igys 
(B) When he was a Crown Prince/tc og ,d ;qojkt Fks 
(C) Before the Kalinga war/dfyax ;q) ls igys 
(D) After the Kalinga war/dfyax ;q+} ds ckn 

61.  Bay of Mannar is situated with the bank of – 
 eUukj dh [kkM+h fdlds rV ij fLFkr gS \ 

(A) Tamil Nadu/rfeyukMq  (B) Karnataka/dukZVd 
(C) Kerela/dsjy   (D) Andhra Pradesh/vkU/zk izns'k 

62.  Ozone Day is celebrated on : 
 vkstksu fnol dc euk;k tkrk gS \ 

(A) 25th September/25 flrEcj 
(B) 5th June/5 twu 
(C) 21st April/21 vizSy 

 (D) 16th September/16 flrEcj 

63.  What was the first ARPANET message ? 
 igyk ARPANET lans'k D;k Fkk \ 

 (A) “lo” 
 (B) “hello world” 
 (C) “mary had a little lamb” 
 (D) “cyberspace, the final frontier” 
64.  The highest peak of the Eastern Ghats of India is : 
 Hkkjr ds iwohZ ?kkV dh lcls m¡ph pksVh dkSu lh gS \ 

(A) Javadi hills/toknh igkM+h 
(B) Annaimudi/vUukbeqMh 
(C) Shevaroy hills/'ksokjk; igkM+h 
(D) Mahendragiri/egsUnzfxfj 
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65.  Most abundant tissues of our body are 
 gekjs 'kjhj esa lcls vf/kd ek=k esa ik, tkus okys mrd dkSu ls gS \ 

(A) muscular/ekalis'kh (B) connective/la;ksth 
(C) epithelial/midyk (D) nervous/raf=dk 

66.  Number of chromosomes in Down‟s syndrome is 
 Mkmu flaMªkse esa xq.klw=kksa dh la[;k fdruh gksrh gS \ 

 (a) 46 (b) 47 (c) 48 (d) 49 
67.  Which market forms allow free entry and exit of firms ? 
 dkSu lk cktkj O;olk; la?k ds fu%'kqYd izos'k vkSj fudkl ds fy, vuqefr nsrs gS \ 

(A) Oligopoly and Monopoly/vksfyxksikWyh vkSj eksuksikWyh 
 (B) Monopoly and Monopolistic/eksuksikWyh vkSj eksuksikWfyfLVd 

 (C) Perfect and Monopolistic/ijisQDV vkSj eksuksikWfyfLVd 

(D) Perfect and Oligopoly/ijQsDV vkSj vksfyxksikWyh 
68.  Vibrio cholerae causes 
 fofcz;ks dksysjk ds dkj.k dkSu lk jksx gksrk gS \ 

(A) tetanus/VsVkul  (B) influenza/bUÝyq,atk 
(C) cholera/gStk  (D) typhoid/Vk;iQk;M 

69.  Din-I-Ilahi was founded by : 
 fnu&,&bykgh fdlds }kjk LFkkfir fd;k x;k \ 

(A) Shah Jahan/'kkgtgk¡ (B) Guru Nanak Dev/xq: ukud nso 
(C) Kabir/dchj   (D) Akbar/vdcj 

70.  In India, the first bank of limited liability manages by Indians and founded in 1881 was 
 Hkkjr esa] Hkkjrh;ksa }kjk izcaf/kr lhfer ns;rk dk igyk cSad ftldh LFkkiuk 1881 esa dh xbZ Fkh] dkSu lk Fkk 

 (A) Hindustan Commercial Bank/fgUnqLrku okf.kfT;d cSad 

 (B) Oudh Commercial Bank/vo/k okf.kfT;d caSd 

  (C) Punjab National Bank/iatkc us'kuy cSad 
   (D) Punjab and Sind Bank/iatkc ,aM fla/k cSad 

71.  Which one of the following is used in making pencils ? 
 fuEufyf[kr esa ls dkSu lk isafly cukus esa iz;ksx fd;k tkrk gS \ 

(A) Black ash/CySd ,'k (B) Graphite/xszQkbV 
(C) Charcoal/pkjdksy (D) Bone black/cksu CySd 

72.  Excise duty is a tax levied on the 
 mRikn 'kqYd dj fdl ij yxk;k tkrk gS \ 

(A) import of goods/oLrq dk vk;kr 
(B) export of goods/oLrq dk fu;kZr 
(C) production of goods/oLrq dk mRikn 
(D) sale of goods/oLrq dh fcØh 

73.  Identify the odd sports man among the following : 
 fuEufyf[kr esa ls fo"ke f[kykM+h dh igpku djsaA 

(A) Sachin Tendulkar/lfpu rsanqydj 
(B) Sunil Gavaskar/lquhy xkoLdj 
(C) Narain Karthikeyan/ukjk;u dkfrZds;u 
(D) Vijay Hazare/fot; gtkjs 

74.  The first recipient of Nehru Award was 
 usg: iqjLdkj ds izFke izkIrdÙkkZ dkSu Fks \ 

(A) Martin Luther King/ekVhZu yqFkj fdax 
(B) Khan Abdul Ghaffar Khan/[kku vCnqy xQQkj [kku 
(C) Mother Teresa/enj Vsjslk 
(D) U Thant/;w- FkkUV 

75.  Soda ash is the name for : 
 lksMk ,s'k ds fy, fuEu esa ls dkSu lk uke iz;qDr gksrk gS 

(A) Sodium bicarbonate/lksfM;e ckbdkcksZusV 
(B) Hydrated sodium carbonate/gkbMªsVsM lksfM;e dkcksZusV 
(C) Sodium hydroxide/lksfM;e gkbMªkWDlkbM 
(D) Sodium carbonate/lksfM;e dkcksZusV 

76. For purifying drinking water, alum is used 
 is; ty dh “kqf)dj.k fQVdjh dk iz;ksx fdl fy, fd;k tkrk gS \ 

(A) for coagulation of mud particles/feV~Vh ds d.kksa ds Ldanu ds fy, 
 (B) to kill bacteria/thok.kq dks ekjus ds fy, 
 (C) to remove salts/ued nwj djus ds fy, 
 (D) to remove gases/xSlksa dks gVkus ds fy, 
77.  Hockey was introduced in the Asian Games in 
 ,f'k;kbZ [ksyksa esa gkWdh dh 'kq:vkr dc vkSj dgk¡ dh xbZ 

(A) 1958 in Tokyo/1958, VksD;ks esa 
 (B) 1962 in Jakarta/1962, tdkrkZ esa 
 (C) 1966 in Bangkok/1966, cSaxdkWd esa 
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 (D) 1970 in Bangkok/1970, cSaxdkWd esa 
78.  Which of the following is not a waste product produced by plants ? 
 fuEufyf[kr esa ls dkSu lk ikS/ksa }kjk mRikfnr vif'k"V mRikn ugha gS \ 

(A) Gum Arabic/xksan vjch 
(B) Carbon dioxide/dkcZu MkbvkWDlkbM 
(C) Water vapour/ty ok"i 
(D) None of these/buesa ls dksbZ ugha 

79.  Free market is 
 fuckZ/k cktkj gS& 

(A)  a condition in the international market where nations do not impose customs duty or other taxes on import of goods/ 
 vUrZjk"Vªh; cktkj esa ,d ,slh fLFkfr tgk¡ jk"Vª eky ds vk;kr ij lhek 'kqYd ;k vU; dj ugha yxkrs gSA 

(B)  market where the price of a commodity is determined by free play of the forces of supply and demand/,d cktkj tgk¡ oLrq dh dher mldh 

ekax vkSj vkiwfrZ ds izHkko ls fuèkkZfjr dh tkrh gS 
(C)  ports that are exempted from payment of customs duty on articles of commerce, primarily to encourage tourism/os canjxkg ftUgsa eq[; :i ls 

i;ZVu dks izksRlkfgr djus ds fy, okf.kT; ds ys[k ij lhek 'kqYd ds Hkqxrku dh NwV nh xbZ gSA  

(D)  None of the above/buesa ls dksbZ ugha 
80.  Which of the following awards is given for excellence in sports coaching ? 
 fuEufyf[kr iqjLdkjksa esa ls dkSu lk [ksydwn dksfpax ds {ks=k esa mRÑ"Vrk ds fy, fn;k tkrk gS \ 

(A) Arjun Award/vtqZu iqjLdkj 
 (B) Dada Saheb Phalke Award/nknk lkgsc QkYds iqjLdkj 

(C) Sahitya Academi Award/lkfgR; vdkneh iqjLdkj 
(D) Dronacharya Award/nzks.kkZpk;Z iqjLdkj 

81.  Gangubai Hangal is the name associated with 
 xaxqckbZ gaxy fdl {ks= ls lacaf/kr uke gS \ 

(A) Literature/lkfgR; 
(B) Music/laxhr 
(C) Journalism/i=kdkfjrk 
(D) Environment/i;kZoj.k 

82.  Water is an excellent solvent because its molecules are : 
 ikuh ,d mRÑ"V foyk;d gS D;ksafd blds v.kq gS& 

(A) Light weight/gYdk Hkkj 
 (B) Neutral/fojDr 
 (C) Highly polar/vR;kf/kd /kzqoh; 
 (D) Non-polar/v/kzqoh; 

83.  London is situated on the Banks of river : 
 yanu fdl unh ds rV ij fLFkr gS \ 

(A) Tigris/fVfxzl (B) Thames/VsEl 
(C) Tiber/Vkbcj (D) Danube/MkU;qc 

84.  Who invented hovercraft ? 
 gksojØkÝV dk vkfo"dkj fdlus fd;k Fkk \ 

(A) Wright brothers/jkbZV cznlZ 
(B) O. Stricheg/vks- fLVªpsx 

 (C) T. Henman/Vh- gsueSu 
 (D) C. Cockerell/lh- dkWdjsy 
85.  In which decade was the AEEE (now the IEEE) founded? 

fdl n'kd esa AEEE (vc IEEE) LFkkfir fd;k x;k Fkk\ 
 (A) 1850s (B) 1880s (C) 1930s (D) 1950s 
86.  Gas used for artificial ripening of fruits is : 
 Qyksa dks Ñf=e :i ls idkus ds fy, dkSu lk xSl iz;ksx fd;k tkrk gS \ 

(A) Propane/izksisu (B) Methane/ehFksu 
(C) Ethane/bFksu (D) Acetylene/,,lhfVfyu 

87.  Who is the author of the book „Freedom Behind Bars‟ ? 

iqLrd ‘Freedom Behind Bars‟ ds ys[kd dkSu gS \ 
(A) Kiran Bedi/fdj.k csnh 
(B) Jawaharlal Nehru/tokgjyky usg: 
(C) Sheikh Abdullah/'ks[k vCnqYyk 
(D) Nelson Mandela/usYlu eaMsyk 

88.  There were widespread risings against the British in the 1820s. Which one of the following did not revolt in the 1820s ? 
 1820 esa vaxzstks ds f[kykQ cM+s iSekus ij fonzksg gq, FksA fuEu esa ls fdlus 1820 ds n'kd esa vaxzstksa ds f[kykQ fonzksg ugha fd;k Fkk \ 

(A) Santhals/laFkky (B) Ahoms/,gkse 
(C) Pagal Panthis/ikxy iaFkht (D) Ramosi/jekslh 

89. Which bill has been passed recently by Rajya Sabha against Nirbhaya Case (Delhi Gang Rape) ? 
 gky gh esa dkSu lk izLrko fuHkZ;k ekeys ds f[kykQ jkT; lHkk }kjk ikfjr fd;k x;k gS (fnYyh lkeqfgd cykRdkj½ \  

 (A) Aarohi Bill/vkjksgh fcy 
(B) Juvenile Justice Bill/tqosukby tLVhl fcy 
(C) Nirbhaya Antodaya Bill/fuHkZ;k vUrksn; fcy 
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 (D) Suraksha Justice Bill/lqj{kk tLVhl fcy 

90. The office of the prime minister of India 
 Hkkjr ds iz/kuea=kh ds dk;kZy; ds ikl 

(A) has a constitutional basis/laoS/kfud vkèkkj gS 
(B) has a statutory basis/oS/kkfud vk/kkj gS 
(C) has conventional basis/ikjaifjd vk/kkj gS 
(D) None of the above/buesa ls dksbZ ugha 

91.  Free and compulsory education for all children is provided until they attain the age of : 
 lHkh cPpksa dks fu%'kqYd vkSj vfuok;Z f'k{kk fdruh vk;q rd iznku dh tkrh gS \ 

(A) 21 years/21 o"kZ (B) 14 years/14 o"kZ 
(C) 16 years/16 o"kZ (D) 18 years/18 o"kZ 

92.  When was international day of peace observed globally ? 
 vUrjk’Vªh; 'kkfar fnol dks fo'o Lrj ij dc euk;k tkrk g S \ 

(A) 29 July/29 tqykbZ   (B) 21 September/21 flrEcj 
(C) 13 August/13 vxLr  (D) 14 July/14 tqykbZ 

93. Which of the following factors are responsible for the rapid growth of sugar production in south India as compared to north India ? 
 fuEufyf[kr dkj.kksa esa ls dkSu lk mÙkj Hkkjr dh rqyuk esa nf{k.k Hkkjr esa phuh ds mRiknu esa rhoz fodkl ds fy, ftEesnkj gS \ 

I.  Higher per acre field of sugarcane 
 xUus ds izfr ,dM+ {ks=k esa vf/kd mRiknu 

II.  Higher sucrose content of sugarcane 
 xUus dh mPprj lqØkst inkFkZ 

III.  Lower labour cost 
 vYi Je ykxr 

IV.  Longer crushing period 
 yEch isjkbZ vof/k 

(A) I and II/I vkSj II  (B) I, II and III/I, II vkSj III 
(C) I, III and IV/I, III vkSj IV (D) I, II and IV/I, II vkSj IV 

94.  Devaluation means : 
 voewY;u dk vFkZ gS% 

 (A) Depreciation of the fixed assets/ 
    fLFkj ifjlEifÙk dk ewY;gkl 

 (B) Increase in the currency value in terms of foreign currency 

         /fons'kh eqnzk ds ekeys esa eqnzk ewY; esa o`f) 

 (C) Reduction in the external value of Currency 

         /eqnzk ds cká ewY; esa deh 
 (D) Fall in valuation of the essentials in an Economy 

        /vFkZO;oLFkk esa vko';d oLrqvksa ds ewY;kadu esa fxjkoV 

95. The main chemical constituent of the oil of cardamom which is responsible for flavour of this oil is 
 byk;ph ds rsy ds eq[; jklk;fud ?kVd tks rsy ds Lokn ds fy, ftEesnkj gS \ 

(A) cineole/lhuh;ksy (B) engenol/bUthuksy  
(C) geraniol/ tsjkfu;ksy (D) limonene/fyeksuhu 

96.  Which country is the largest producer of raw Jute ? 
 dkSu lk ns'k dPps twV dk lcls cM+k mRiknd gS \ 

(A) Myanmar/E;kaekj       (B) India/Hkkjr 
(C) Bangladesh/cakXykns'k  (D) Pakistan/ikfdLrku 

97.  Who is the first Indian woman to win an Asian Games gold in 400m run ? 

 ,f'k;kbZ [ksyksa esa 400 ehVj dh nkSM+ esa Lo.kZ ind thrus okyh igyh Hkkjrh; efgyk dkSu gS \ 

(A) M.L.Valsamma/,eŒ,yŒ oylEek (B) P.T.Usha/ih-Vh- m"kk 
(C) Kamaljit Sandhu/deythr la/qk   (D) K.Malleshwari/ds- ekys'ojh 

98. Amnesty International has its headquarters at 
 ,eusLVh baVjus'kuy dk eq[;ky; dgk¡ fLFkr gS \ 

(A) Berlin/cfyZu   (B) New York/U;w;kWdZ 
(C) Washington/okf'kaxVu  (D) London/yanu 

99.  First Indian to make a speech in Hindi before the UN General Assembly was : 
 la;qDr jk"Vª egklHkk esa fgUnh esa Hkk"k.k nsus okys igys Hkkjrh; dkSu Fks \ 

(A) Lal Krishna Advani/yky Ñ".k vkMokuh 
(B) Morarji Desai/eksjkjth nslkbZ 
(C) A.B. Vajpayee/,-ch- okti;h 
(D) Lal Bahadur Shastri/yky cgknqj 'kkL=h 

100. „Statue of Liberty‟ is the National Emblem of 
 ^LVsP;q vkWQ fycVhZ* fdl ns'k dk jk"Vªh; izrhd gS \ 

(A) Germany/teZuh  (B) Russia/:jfl;k  
(B) (C) U. K./;w-ds-  (D) USA/;w-,l-,-  
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PART-C. QUANTITATIVE APTITUDE 

Ekk=kRed vfHk{kerk 
101. 18 women can complete a piece of work in 12 days and 12 men can complete the same work in 9 days. In how many days will 8 men and 8 

women complete that work? 

 18 efgyk,a ,d dke dks 12 fnu es a iwjk dj ldrh gSS vkjS 12 iq:"k mlh dke dks 9 fnu es a iwjk dj ldrs gaAS 8 iq:"k vkjS 8 efgyk,a ml dke dks 

fdrus fnu es a iwjk djsxs\ 

(a) 9 days/fnu  (b) 6 days/fnu  
(c) 12 days/fnu  (d) 8 days/fnu 

102. Rs. 68,000 is divided among A, B and C in the ratio 
1 1 5
: : .
2 4 6

  The difference of the greatest and the smallest part is : 

 : 68000  dks A,B   vkSj C   esa 
1 1 5
: :
2 4 16

  ds vuqikr esa ckaVk tkrk gSA lcls cMs vkSj lcls NksVs Hkkx dk varj gksxk  

 (a) Rs. 6000 (b) Rs. 14440 (c) Rs. 9200 (d) Rs. 16000 

103. A man sells a table at 12% loss and a book at 19% profit and he earns a profit of Rs. 160. If he sells the table at 12% profit and book at 16% 

loss, then he bears a loss of ` 40. Find the price of the book. 
 ,d vkneh us ,d est dks 12% gkfu ij rFkk ,d fdrkc dks 19% ykHk ij cspk vkSj dqy ykxr ij 160 dk ykHk dek;kA ;fn mlus est dks 12% ykHk 

ij rFkk fdrkc dks 16% gkfu ij cspk gksrk rks mls nksuksa dh dqy ykxr ij  40 dk uqdlku gksrk gSA ,d fdrkc dk ewY; Kkr djsaA 

 (a) Rs.4000 (b) Rs. 3000 (c) Rs. 2000 (d) Rs. 3500 

104. If 10% of A's income = 15% of B's income = 20% of C's income and sum of their income is Rs. 7800, then B's income is: 

 ;fn A dh vk; dk 10% = B dh vk; dk 15% = C dh vk; dk 20% gS rFkk mudh vk; dk dqy ;ksx Rs. 7800 gks] rks B dh vk; gksxh& 

 (A) Rs. 3600 (B) Rs. 3000 (c) Rs. 2400 (d) Rs. 1800 
105. A can complete a work in 10 days, B in 12 days and C in 15 days. All of them began to work together; but A had to leave the work after 2 days of 

the start and B, 3 days before the completion of the work. How long did the work last ? 

 A ,d dk;Z dks 10 fnu] B, 12 fnu rFkk C, 15 fnu esa iwjk dj ldrk gSA mu rhuksa us feydj dk;Z vkjEHk fd;k] fdUrq A dks dk;kZjEHk ds 2 fnu 

i'pkr~ rFkk B dks dk;Z lekiu ls 3 fnu igys dk;Z NksM+dj tkuk iM+kA dk;Z fdrus fnuksa esa iwjk gqvk\ 

 (A) 7 days/fnu (B) 8 days/fnu (C) 10 days/fnu (D) 12 days/fnu 
106. A thief steals a car at 2:30 pm and drives it at 60 km/hr. The theft is seen at 3 pm and the owner sets off in another car at 75 km/hr to catch the 

thief. When will he catch the thief? 

 ,d pksj ,d dkj dks vijkâu 2:30 cts pqjkdj 60 fdeh-@?k.Vk dh pky ls Hkkxrk gSA pksj dks vijkâu 3 cts ns[kk tkrk gSA dkj dk ekfyd nwljs dkj 

ls 75 fdeh@?k.Vk dh pky ls pksj dk ihNk djrk gSA og pksj dks fdrus cts idM+ ysxk\ 

 (A) 4:30 pm/vijkg~u (B) 4:45 pm/vijkg~u 

 (C) 5 pm/vijkg~u (D) 5:15 pm/vijkg~u 

107. Poles are to be fixed along the boundary of a rectangular field in such a way that distance between any two adjancent poles is 1.5 metres. The 
perimeter of the field is 84 metres and length and the breadth of the field are in the ratio of 4 : 3 respectively. How many poles will be required? 

 vk;rkdkj [ksr ds lhek ds lkFk [kaHkks dks bl izdkj [kM+k fd;k x;k gS fd nks layXu [kaHkksa ds chp dh nwjh 1.5 ehVj gksA ;fn [ksr dk ifjeki 84 ehVj gS 

rFkk yackbZ vkSj pkSM+kbZ Øe'k% 4 : 3 ds vuqikr esa gSA fdrus [kaHks dh vko';drk gksxh\ 

 (A) 50 (B) 16 (C) 15 (D) 20 

108. The profit earned when an article is sold for Rs. 800 is 20 times the loss incurred when it is sold for Rs. 275. At what price should the article be 
sold if it is desired to make a profit of 25%? 

 ,d oLrq dks Rs. 275 esa cspus ij ftruh gkfu gksrh gS mldk 20 xquk ykHk ml oLrq dks Rs. 800 esa cspus ij gksrk gS] rks Kkr dhft, 25% ykHk izkIr djus 

ds fy, oLrq dks fdrus ewY; ij cspk tkuk pkfg,\ 

 (A) Rs. 300 (B) Rs. 350 (C) Rs. 375 (D) Rs. 400 
109. Find the least number which will exactly divide 200 and 320. 

 og lcls NksVh la[;k Kkr djsa tks 200 rFkk 320 dks iw.kZr% foHkkftr djsxk 

 (A) 40 (B) 45 (C) 35 (D) 20 

110. The squre root of : 
3

2(0.75)
[0.75 (0.75) 1]

1 (0.75)
  


  

 

3
2(0.75)

[0.75 (0.75) 1]
1 (0.75)

  


dk oxZewy gS% 

 (A) 4 (B) 2  (C) 1 (D) 3 

111. An amount at of C.I. for 2 years becomes 
9

4
 times. Find the rate of interest.  

 dksbZ jkf'k pØof̀) C;kt dh nj ls 2 o"kZ esa 9 / 4   xq.kk gks tkrh gSA C;kt dh nj Kkr djsaA 

 (A) 75% (B) 128% (C) 50% (D) 100% 

112. A shopkeeper sells a good for Rs. 2400 and made a profit of 25% in the process. Find his profit percent if he had sold his goods for Rs. 2040. 

 ,d nqdkunkj Rs. 2400 esa ,d oLrq dks cspdj 25% dk ykHk dekrk gSA ;fn og oLrq dks Rs. 2040 esa cspk gksrk] rks mldk ykHk izfr'kr Kkr djsaA  

 (A) 6.25% (B) 7 % (C) 6.20% (D) 6.5% 
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113. If the numerator of a fraction is increased by 200% and the denominator is increased by 400%, the resultant fraction becomes 
1

1 .
20

 What was 

the original fraction? 

 ;fn ,d fHkUu dk va'k 200% c<+k;k tk, vkSj gj 400% c<+k;k tk,] rks ifj.kkeh fHkUu 
1
1
20

 gks tkrk gSA ewy fHkUu fdruk Fkk\ 

(a) 
3
1
4

  (B)11/10 (c)6/5 (d) 
1
1
2

  

114. Two partners invest Rs. 125,000 and Rs. 85,000 respectively in a business and agreed that 60% of the profit should be divided equally between 

them and the remaining profit is to be treated as interest on capital. If one partner gets Rs. 300 more than the other, find the total profit made in 
the business. 

 nks lk>snkj ,d O;olk; esa Øe'k% Rs. 125,000 ,oa Rs. 85,000 fuos'k djrs gSa ,oa bl ckr ij lger gksrs gSa fd equkQs dk 60% nksuksa esa cjkcj&cjkcj 

foHkkftr gksuk pkfg, rFkk cpk gqvk equkQk fuosf'kr iwath ij C;kt ekuk tk,xkA ;fn ,d lk>snkj dks nwljs ls Rs.300 vf/kd izkIr gksrk gS] rks O;olk; esa 

dqy equkQk Kkr djsaA 

 (A) Rs. 3739.50 (B) Rs. 3937.50 (C) Rs. 3749.50 (D) Rs. 3947.50 

115. Wages of 20 boys for 15 days is Rs. 9000. If the daily wage of a man is one and half times that of a boys, how many men must work for 30 days 

to earn Rs. 13500?  
 20 yM+dksa dh 15 fnuksa dh etnwjh Rs. 9000 gSaA ;fn ,d iq:"k dh etnwjh ,d yM+ds dh etnwjh dk 1.5 xq.kk gks] rks fdrus iq:"k 30 fnuksa esa Rs. 13500 

vftZr djsaxs\  

 (A) 12 men/iq:"k (B) 20 men/iq:"k 

 (C) 16 men/iq:"k (D) 10 men/iq:"k 
116. A man travels 360 km in 4 hrs, partly by air and partly by train. If he had travelled all the way by air, he would have saved 4/5 of the time he was 

in train and would have arrived at his destination 2 hours early. Find the distance he travelled by air and train. 

 ,d O;fDr 4 ?k.Vs esa 360 fdyksehVj dh nwjh r; djrk gS] dqN nwjh ok;q;ku ls vkSj dqN nwjh jsyxkM+h lsA ;fn mlus laiw.kZ nwjh ok;q;ku ls r; fd;k gksrk 

rks mlus jsyxkM+h esa fcrk, x, le; dk 4/5 xq.kk le; cpk fy;k gksrk vkSj vius xarO; ij 2 ?k.Vk igys igq¡p tkrkA mlus ok;q;ku ,oa jsyxkM+h ls Øe'k% 

fdruh nwfj;k¡ r; dh\ 

 (A) 90 km/fdeh-, 270 km/fdeh-(B) 95 km/fdeh-, 275 km/fdeh- 

 (C) 94 km/fdeh-, 282 km/fdeh-(D) 92 km/fdeh-, 292 km/fdeh- 
117. Gaurav spends 40% of the amount he received from his father on hostel expenses, 20% on books and stationery and 50% of the remaining on 

transport. He saves Rs. 450 which is half the remaining amount after spending on hostel expenses, books etc. and transport. How much money did 
he get from his father? 

 xkSjo vius firk ls izkIr jkf'k esa ls 40% Nk=kkokl ij] 20% fdrkcksa vkSj LVs'kujh ij vkSj 'ks"k dk 50% ifjogu ij [kpZ djrk gSA Nk=kkokl] fdrkc vkfn 

vkSj ifjogu ij [kpZ djus ds ckn Rs. 450 tks 'ks"k dk vk/k gS mls og cpkrk gSA mls vius firk ls fdrus Rs. feys Fks\ 

 (A) Rs. 3000 (B) Rs. 6000 (C) Rs. 4500  
 (D) Can't determined/fu/kkZfjr ugha fd;k tk ldrk 
118. A 10% hike in the price of rice forces a person to purchase 2 kg less rice for Rs. 110. Find the new and the original prices per kg of the rice. 

 pkoy ds ewY; esa 10% o`f) gksus ij ,d O;fDr Rs. 110 esa 2 fdxzk- pkoy de [kjhnrk gSA pkoy dk u;k ewY; rFkk izkjfEHkd ewY; izfr fdxzk- Kkr djsaA 

 (a) 
1

Rs.4
2

 per kg and Rs. 3 per kg  

 (b) 
2

Rs.4
3

 per kg andRs. 6 per kg  

 (c) 
3
4
6

 per kg and Rs. 2 per kg  

 (d) Rs. 
1
5
2

  per kg andRs. 5 per kg  

119. A cistern has two pipes. One can fill it with water in 8 hours and the second can empty it in 5 hours. In how many hours will the cistern be emptied 
if both the pipes are opened together, when ¾ of the cistern is already full of water? 

 ,d Vadh esa nks ikbi yxs gq, gSaA ,d ikbi bls 8 ?k.Vs esa ikuh ls Hkj ldrk gS vkSj nwljk bls 5 ?k.Vs esa [kkyh dj ldrk gSA ;fn Vadh dk 3@4 Hkkx ikuh 
ls Hkjk gqvk gks] vkSj nksuksa ikbi ,d lkFk [kksy fn, tk,] rks Vadh fdrus le; esa [kkyh gks tk,xh\ 

 (a) 
1

13
3

 hour (b) 10 hour (c)6 hour (d) 
1
3
3

 hours  

120. In a bag, there are three types of coins 1 rupee, 50-paise and 25-paise in the ratio 3 : 8 : 20. Their total value is Rs. 372. The total number of 
coins is : 

 ,d FkSys esa rhu izdkj ds flDds Rs. 1 okys] 50 iSls okys rFkk 25 iSls okys gSa] tks 3 : 8 : 20 ds vuqikr esa gSaA mudk dqy ewY; Rs. 372 gSA flDdksa dh dqy 

la[;k gksxh% 

 (A) 1200 (B) 961 (C) 744 (D) 612 

121. One person takes a loan for 2 years at a certain rate of interest. If the rate of interest is 6% more, then interest of Rs. 720 more would have been 
given. Find the Prinicipal amount. 

 ,d O;fDr ,d fuf'pr nj ij 2 o"kZ ds fy, dqN jkf'k dk _.k fy;kA ;fn C;kt dh nj 6% vf/kd gks] rks C;kt 720 vf/kd nsuk iM+rkA ewy/ku Kkr djsaA 

 (A) Rs. 6500 (B) Rs. 6000 (C) Rs. 7000 (D) Rs. 7500 
122. The numbers 1 × 3 × 5 × 7 × ........ × 99 ×128 are multiplied together, the number of zero at the end of the product must be: 
 la[;k,a 1 × 3 × 5 × 7 × ....... × 99 × 128 dks lkFk&lkFk xq.kk fd;k x;kA xq.kuQy ds var esa 'kwU; dh la[;k gksuh pkfg,& 
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 (A) 7 (B) 22 (C) 9 (D) 11 
123. In a election between two candidates, the winning candidate got 80% of the total valid votes. If out of total 1,80,000 votes, 10% were declared 

invalid. Find the total number of valid votes got by the second candidate. 
 nks mEehnokjksa ds eè; gksus okys fdlh pquko esa igys mEehnokj dks dqy oS/k erksa ds 80% er feysA ;fn dqy 1,80,000 erksa esa 10% er voS/k ?kksf"kr fd, 

x, gksa] rks nwljs mEehnokj ds i{k esa oS/k erksa dh la[;k Kkr djsaA 

 (A) 32,400 (B) 32,600 (C) 32,455 (D) None of these 

124. Amount of Rs. 18600 is invested into 3 parts at the rate of 10% per annum for 2 years, 4 years and 5 years respectively. If in all situations the S.I. 
remains the same, then find the Prinicipal value of every amount.  

  18600 dh jkf'k dks rhu Hkkx esa 10% ds nj ls Øe'k% 2 o"kZ] 4 o"kZ rFkk 5 o"kZ ds fy, fuos'k fd;k tkrk gSA ;fn lkjh fLFkfr esa lk/kj.k C;kt leku gks] rks 

izR;sd Hkkx dk ewy/ku Kkr djsaA 

 (A) Rs. 7000, Rs. 6200, Rs. 5400 

 (B) Rs. 7200, Rs. 6000, Rs. 5600 

 (C) Rs. 7000, Rs. 6000, Rs. 56000 

 (D) Rs. 7000, Rs. 6000, Rs. 5200 
125. If the radius of a right circular cylinder is decreased by 50% and its height is increased by 60%, its volume will be increased/decreased by 
 ;fn fdlh yEc o`Ùkkdkj csyu ds v)ZO;kl esa 50% deh rFkk bldh Å¡pkbZ esa 60% dh o`f) dh tk,] rks blds vk;ru esa fdruh of̀)@ deh gks tk,xh \ 

 (A) increase by 60%/60% dh o`f) 

 (B) decrease by 60%/60% dh deh 

 (C) increase by 40%/40% dh o`f) 

 (D) decrease by 20%/60% dh deh 

126. In a triangle ABC, points D and E respectively lie on side AB and AC such that DE||BC. If AD = 6 cm, DB = (12x – 6) cm, AE = 2x cm and CE = 16 
– 2x cm then what is the value of x 

 f=Hkqt ABC eas] fcanq D vkSj E Øe'k% Hkqtk AB rFkk AC ij bl izdkj gS fd DE||BC gSA ;fn AD = 6 lseh-] DB = (12x – 6) lseh-] AE = 2x lseh rFkk CE = 

16 – 2x lseh gS] rks x dk eku D;k gksxk\ 

 (A) 2 (B) 4 (C) 2   (D) 8 

127. If 
3

2

x 3x 189

613x 1





 then value of x is 

 ;fn 

3

2

x 3x 189

613x 1





gks] rks dk x eku gS& 

 (A) 9 (B) 11 (C) 7 (D) 13 
128. The circumference of a circular garden is 1012 m. A road of 3.5 m width runs around it. Calculate the area of this road and find the cost of 

gravelling it at the rate of 32 paise per sq m. 

 ,d oxkZdkj cxhps dh ifjf/ 1012 ehVj gSA cxhps ds ckgj ,d 3.5 ehVj pkSM+h lM+d mlds pkjksa vksj gSA lM+d dk {ks=kiQy Kkr djsa ,oa 32 iSls@oxZ 

ehVj dh nj ls jksM+h fcNkus dk [kpZ Kkr djsaA 

 (A) 3580.50 m2/eh
2
, Rs. 1145.76 

 (B) 4211.72 m2/eh
2
, Rs. 1347.75 

 (C) 5486.81 m2/eh
2
, Rs. 1755.78 

 (D) 6080.56 m2/eh
2
, Rs. 1945.78 

129. If 
1 7

sin ,
sin 2 3

  


  then   is  

 (A) 30° (B) 45° (C) 60° (D) 90° 
130. Three circles are described with the radius 5 cm at the corners of a equilateral triangle as the centres, so that each touches the other two. Find the 

common area to the triangle and circles. 
 ,d leckgq f=Hkqt ds fdukjs ij 5 lseh f=T;k okys rhu oÙ̀kksa dks bl izdkj j[kk tkrk gS fd izR;sd o`Ùk vU; nksuksa o`Ùkksa dks Li'kZ djsaA f=Hkqt rFkk o`Ùkksa ds 

mHk;fu"B {ks=Qy dks Kkr djsaA 

 (a)3.75 cm
2

 (b) 4.2 cm
2

 (c)4.55 cm
2

 (d) None of these  

131. If 
2

2

1
x p,

x

 
   

 
  then what is the value 

3
3

1
x ?

x

 
  

 
  

 (a) 3/2p   (b) (p 1) p 2    (c) (p 1) p 2    (d) (p 1) p 2    

132. In the figure given below PAQ = 59°, APD = 40°, then AQB is equal to which of following? 

 uhps fn;s x;s fp= esa PAQ = 59°, APD = 40° gks] rks AQB blesa ls fdlds cjkcj gksxk\  

 

 (A) 19° (B) 20° (C) 22° (D) 27° 
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133. Two poles of equal height are on either side of a 50 m broad road. From a point on the road the angles of elevation of their tops are 45° and 60° 
respectively. What is the height of each pole? 

 cjkcj Å¡pkbZ ds nks [kaHks ,d 50 ehVj pkSM+h lM+d ds nksuksa rjQ gSA lM+d ij ,d fcanq ls muds lcls Åij dh Å¡pkbZ ds dks.k Øe'k% 45° vkSj 60° gSA 
izR;sd [kaHks dh yackbZ D;k gS\ 

 (a) 30m  (b) 35m  

 (c) 
35 3

m
(1 3)

  (d) 
50 3

m
(1 3)

  

134. The sides of a triangle are 9 cm, 40 cm and 41 cm. The distance between its orthocenter and circumcentre is 
 ,d f=Hkqt dh Hkqtk,a 9 lseh-] 40 lseh- rFkk 41 lseh gSA blds yEcdsUnz rFkk ifjdsUnz ds chp dh nwjh gS% 

 (A) 29 cm/lseh-  (B) 20.5 cm/lseh-  

 (C) 29  cm/lseh-  (D) 15 cm/lseh 

135. If 
1 1

x a ,y a ,
a a

      then value of 4 4 2 2x y 2x y    is  

 (a) 16  (b) 20  
 (c) 10  (d) 5  
136. Find the value  of  

 4 4 4 43 5 7
cos cos cos cos

8 8 8 8

   
   4 4 3cos cos

8 8

 
  4 5cos

8


  4 7cos

8


    

 (a) 1 (b) -1 (c) 0 (d) 3/2  
137. In the figure given below AB is parallel to CD. If DCE = x and ABE = y, then CEB is equal to: 

 uhps fn;s x;s fp=k esa AB, CD ds lekukarj gSA ;fn DCE = x rFkk ABE = y gks] rks CEB cjkcj gksxk% 

 

 (a)y-x (b) (x+y)/2 (c) x y
2

 
   

 
  (d) x+y-   

138. If 
5x 7y 10 3x 2y 1 11x 4y 10

1 8 9

     
    then equal x+y equals  

 (a) 1   (b) 2  
 (c) 3   (d) -3  
139. If sin– cos= 7/13 and 0 < < 90° then the numeric value of sin+ cosis equal to : 

 (a) 17/13 (b) 13/17 (c) 1/13 (d) 1/17  
140. ABCD is a parallelogram with base AB = 12 cm and height 5 cm. If E and F are respectively midpoint of AB and CD and diagonal BD intersects AF 

and CE respectively at P and Q, then area of quadrilateral PQCF is: 

 vk/kj AB = 12 lseh- vkSj Å¡pkbZ 5 lseh- ds lkFk ABCD ,d lekarj prqHkqZt gSA ;fn E vkSj F Øe'k% Hkqtk AB rFkk CD ds eè;fcanq gS ,oa fod.kZ BD 

Øe'k% AF vkSj CE dks Øe'k% fcanq P rFkk Q ij dkVrs gS] rks prqHkqZt PQCF dk {ks=kiQy gS% 

 (A) 12 cm 2   (B) 18 cm 2  (C) 20 cm 2  (D) 15 cm 2  

141.  If x 2 3    then the value of 
1

x
x

   is  

 (a) 6   (b) 2 6   (c) 6 (d) 3   

142. In triangle ABC, A = 60°, B = 100° and AB = 10 cm. Find AC. 

 f=Hkqt ABC esa] A = 60°, B = 100° rFkk AB = 10 lseh- gSA AC Kkr djsaA 

 (a) 10 sin100º/sin60º (b) 10sin60º/sin 100º  
 (c) 10 sin100º/sin20º (d) 10 sn45º /sin20º 
143. A boat travels upstream from point Q to P and downstream from P to Q in 3 hours. If the distance between P to Q is 4 km and the speed of the 

stream is 1 km/hr, then what is the speed of the boat in still water? 

 ,d uko /kjk ds vuqdwy Q ls P rFkk /kjk ds izfrdwy P ls Q, 3 ?k.Vs esa iwjk djrh gSA ;fn P ls Q ds chp dh nwjh 4 fdeh- gS rFkk /kjk dh pky 1 
fdeh-@?k.Vk gS] rks 'kkar ty esa uko dh pky D;k gS\ 

 (A) 4.5 km/hr/fdeh-@?k.Vk 

 (B) 5.2 km/hr/fdeh-@?k.Vk 

 (C) 2.5 km/hr/fdeh-@?k.Vk 

 (D) 3 km/hr/fdeh-@?k.Vk 

144. A butler stole wine from a butt of sherry which contained 40% spirit and he replaced, what he had stolen by wine containing only 16% spirit. The 
butt was then of 24% strength only. How much of the butt did he steal? 

 ,d cVyj ,d 'kjkc ds crZu ls 40% fLifjV okys ,Ydksgy dh dqN ek=kk dks pqjkdj 16% fLifjV okys ,Ydksgy ls foLFkkfir djrk gSA rc crZu esa 

,Ydksgy dh ek=kk dsoy 24% FkkA O;fDr us crZu ls fdruh 'kjkc pqjk;h Fkh\ 

 (A)1/3  (B)4/3 
 (C)2/3  (D)3/4 
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145. If tan + cot = 2, then the value of 100
100

1
tan

tan
 


  

 (A) 0  (B) 1 
 (C) 2  (D) – 1 
Directions (146-150): The bar graph given below shows the foreign exchange reserves of a country (in million US $) from 2001-02 to 
2008-09. Answer the questions based on this graph. 
funsZ'k (146-150): uhps fn;s x;s ckj&xzkQ esa 2001-02 ls 2008-09 esa fons'kh eqnzk HkaMkj (fefy;u ;w,l $ es fn[kk;k x;k gSA bls vkys[k ds vk/kkj ij iz'uksa ds 

mÙkj nsaA 

 

146. The foreign exchange reserves in 2007-08 was how many times that in 2004-05? 
 2007-08 esa fons'kh eqnzk HkaMkj 2004-05 ls fdruk xq.kk Fkk\ 

 (A) 0.7  (B) 1.2  
 (C) 1.4  (D) 1.5 
147. What was the percentage increase in the foreign exchange reserves in 2007-08 over 2004-05? 

 2007-08 esa fons'kh eqnzk HkaMkj 2004-05 ls fdruk izfr'kr c<+k gS\ 

 (A) 100%  (B) 150%  
 (C) 200%  (D) 620% 
148. For which year, the percent increase of foreign exchange reserves over the previous-year, is the highest? 
 fdl o"kZ esa] fons'kh eqnzk HkaMkj fiNys o"kZ dh rqyuk esa fdl o"kZ esa izfr'kr o`f) lcls T;knk gqvk gS\  

 (A) 2002-03 (B) 2003-04 (C) 2004-05 (D) 2006-07 
149. The foreign exchange reserves in 2006-07 were approximately what percent of the average foreign exchange reserves given over the period under 

review? 
 2006-07 esa fons'kh eqnzk HkaMkj fn;s x;s dh vof/k dk yxHkx fdruk izfr'kr gS\ 

 (A) 95% (B) 110% (C) 115% (D) 125% 
150. The ratio of the number of years, in which the foreign exchange reserves are above the average reserves, to those in which the reserves are below 

the average reserves, is : 
 ftu o"kks± esa fons'kh eqnzk HkaMkj vkSlr HkaMkj ls T;knk gS rFkk ftu o"kks± esa fons'kh eqnzk HkaMkj vkSlr HkaMkj ls de gS] muds chp dk vuqikr D;k gS \ 

 (A) 2 : 6 (B) 3 : 4 (C) 3 : 5 (D) 4 : 4 

SECTION-4.  

ENGLISH LANGAUGE 
Direction : In Question nos. 151 to 155, some part of the sentences have errors and some are correct. Find out which 
part of a sentence has an error and blacken the oval [  ] corresponding to the appropriate letter (A), (B),(C). If a 

sentence is free from error, blacken the oval corresponding to (D) in the Answer Sheet. 
151. He wish he is the richest person in the whole wide world. 

(A) He wish he is  (B) the richest person 
(C) in the whole wide world. (D) No error 

152.  Saina Nehwal is confident to win the gold medal this time. 
(A) Saina Nehwal is confident (B) to win the gold medal 
(C) this time.  (D) No error 

153.  The boy laid in the shelter for a long time before somebody came to rescue him. 
(A) The boy laid in the shelter    (B) for a long time before 
(C) somebody came to rescue him.(D) No error 

154.  Standing at the top of the hill the houses below were hardly visible. 
(A) Standing at  (B) the top of the hill 
(C) the houses below were hardly visible. 
(D) No error 

155. Ravindra Jadeja is one of the players who has been selected for the test match.  
(A) Ravindra Jadeja is one of the players 
(B) who has been selected 
(C) for the test match. 
(D) No error 
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Directions : In Question nos. 156 to 160, sentences given with blanks to be filled in with an appropriate word(s). Four 
alternatives are suggested for each question. Choose the correct alternative out of the four and indicate it by 
blackening the appropriate oval [   ] in the Answer Sheet. 

156. He could not ....... anything in the dark room. 
(A) look at (B) see (C) see through (D) Look 

157.  We were ......... the wiser for all his effort to explain the case to us. 
(A) none (B) neither (C) nevertheless (D) not 

158. His .......... brought about his downfall. 
(A) intense desire (B) desire for power  
(C) fatal desire (D) powerful desire 

159. Infact, if it hadn’t been for his ........ advice on so many occasions, I wouldn’t have achieved anything in life. 
(A) remarkable (B) valuable (C) priceless (D) invaluable 

160.  To get one’s name in the Rowland Ward’s book of hunting records was the ..... ambition of every serious hunter.  
(A) extreme (B) burning (C) high (D) hot 

Direction: In Question nos. 161 to 168, a sentence/ a part of the se0ntence is underlined. Below are given alternatives 
to the underlined part at (A), (B), (C) which may improve the sentence. Choose the correct alternative. In case no 
improvement is needed your answer is (D). Mark your answer in the Answer Sheet. 
161. You are warned against committing the same mistake again. 

(A) to commit (B) for committing (C) against to commit 
(D) No Improvement 

162. The more they earn, more they spend. 
(A) More they earn, more they spend 
(B) More they earn, the more they spend 

(C) The more they earn, the more they spend 
(D) No Improvement 

163. The end of the examinations is an opportunity for celebration. 
(A) chance (B) moment (C) occasion (D) No Improvement 

164. Either he or I am going. 
(A) he or I are going 
(B) he is going or I am 
(C) I or he is going  
(D) No Improvement 

165. The cloud of misfortunes appears to have blown out. 
(A) over (B) up (C) away (D) No Improvement 

166. Please remind me of posting these letters to my relatives. 
(A) by posting (B) to post  

 (C) for posting (D) No Improvement 
167. This telephone number is not existing. 

(A) has not existed   (B) does not exist  
(C) has not been existing (D) No Improvement 

168. I shall be grateful to you if you are of help to me now. 
(A) help (B) would help (C) helped (D) No Improvement 
Direction : In Question nos. 169 to 175, four alternative are given for the Idiom/Phrase underlined in the sentence. 
Choose the alternative which best expresses the meaning of the Idiom/Phrase and mark it in the Answer Sheet. 
169. Although he has failed in the written examination, he is using backstairs influence to get the job. 

(A) Political influence  (B) Backing influence 
(C) Deserving and proper influence   
(D) Secret and unfair influence 

170.  The time is running out, you must look sharp. 
(A) be careful  (B) make haste  
(C) be punctual  (D) be sensible 

171.  Jaya has a checkered career. since I first knew him as an office assistant in the insurance company. 
(A) Had a variety of jobs and experiences 
(B) A career which helped him make lot of money  
(C) A career where he signed a lot of cheques 
(D) Did odd jobs 

172.  You have to be a cool customer and be patient if you want to get the best buy. 
(A) Be calm and not be excitable (B) Have a cool head  
(C) Be uncommunicative 
(D) Be choosy 

173.  The new C.M stuck his neck out today and promised 10 kgs. free wheat a month for all rural families. 
(A) took an oath  
(B) took a risk  
(C) extended help 
(D) caused embarrassment 

174.  Why do you wish to tread on the toes ? 
(A) To give offence to them 
(B) To follow them grudgingly 

(C) To treat them indifferently 
(D) To be kicked by them 
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175. Madhuri might scream blue murder, but I feel Deepali should get the promotion since she is more qualified for the job. 
(A) Someone has been murdered with some blue liquid 
(B) Someone is being murdered and has become blue 
(C) Suffer from persecution complex 
(D) Make a great deal of noise and object vehemently 

Directions : In Question nos. 176-182, in the following question, out of the four alternatives, choose the one which can 
be substituted for the given sentence. 
176.  A number of people following a funeral 

 (A) Cortege (B) Abattoir (C) Borer (D) Cremains 
177.  A large group of insects moving in a mass 
 (A) Tick (B) Swarm (C) Meadow (D) Hornet 
178.  A string of beads used for counting prayers 
 (A) Rosary (B) Beseeching (C) Plea (D) Orison 
179.  A person who is slow in learning 
 (A) Dunce (B) Erudition (C) Lore (D) Attainment 
180.  Recovering from illness 
 (A) Convalescent (B) Ailment (C) Seizure (D) Affliction 
181.  A small enclosure for cattle, sheep, poultry etc. 
 (A) Pen (B) Longhorn (C) Stock (D) Beast 
182.  Impudent girl 
 (A) Minx (B) Lassie (C) Damsel (D) Mademoiselle 
Direction : In Question nos. 183 to 185, in the following questions, out of the four alternatives, choose the one which 
best expresses the meaning of the given word as your answer. 
183.  IMPLY 

(A) Suggest  (B) Stab  (C) Thick  (D) Destroy 
184.  RAMBLE 

(A) Knot  (B) Confuse (C) Wander (D) Wonder 
185.  PLACID 

(A) Calm  (B) Lazy  (C) Solemn (D) Devious 
Direction : In Question nos. 186 to 188, in the following questions, choose the word opposite in meaning to the given 
word opposite in meaning to the given word. 
186.  FICKLE 

(A) Steady (B) Kind (C) Please (D) Finagle 
187.  INEPT 

(A) Clumsy (B) Infer (C) Competent (D) Foolish 
188.  FLAUNT  

(A) Regard (B) Sink (C) Hide (D) Propose 
Directions : In question nos. 189 to 190, four words are given in each question, out of which only one word is spelt 
wrong. Find the word spelt wrong and mark your answer in the Answer Sheet. 
189.  (A) Amature (B) Manual(C) Nephew (D) Athletic 
190. (A) Aristocracy  (B) Prophecy  

(C) Beaureacuracy  (D) Democracy 
Direction : In Question nos. 191 to 195, in the following passages some of the words have been left out. Read the 
passages carefully and choose the correct answer to each question out of the four alternative and fill in the blanks.  
CLOZE TEST 
Modern-day critics of vaccination are concerned that ...(i)... vaccination plays a role in autoimmune disease and autism, though 
largescale scientific studies have failed to find a link. In the generic sense, the process of triggering immune response, in an effort to 
protect against infectious disease, works by ‘priming’ the immune system with an ‘immunogen’. Stimulating immune response, via 
use of an infectious agent, is known as immunisation. Vaccinations ...(ii)... the administration of one or more immunogens, in the 
form of live, but weakened (Attenuated) infectious agents, which ...(iii)... are either weaker, but closely related species (as with 
smallpox and cowpox) or stains weakened by some process. In such cases, an immunogenic is called a vaccine. Some modern 
vaccines are administeredafter the patient already has contracted a disease, 
as in the cases of experimental AIDS, cancer and Alzheimer’s disease vaccines. Vaccine given after exposure to smallpox, within the 

first four days, is reported to ...(iv)... the disease considerably, as vaccination within the first week is thought to be beneficial to a 
degree. The essential theory behind such immunisations is that the vaccine triggers ...(v)... immune response than the natural 
infection itself. 
191.  (i) (A) childhood (B) adulthood(C) childish (D) children 
192.  (ii)(A) produce (B) involve(C) need (D) acquaint 
193.  (iii)(A) virtually (B) normally(C) usually (D) always 
194.  (iv)(A) attenuate (B) diminish(C) eradicate (D) disappear 
195.  (v)(A) super (B) huge (C) enormous (D) superior 
Direction : In Question nos. 196-200, you have a brief passages with 5 questions. Read the passage carefully and 
choose the best answer to each question out of the four alternatives and mark it by blackening the appropriate oval 
[  ] in the Answer Sheet. 

PASSAGE 
Gandhi was not born great. He was a blundering boy, a mediocre student, a poor lawyer, an ordinary individual until he remade 
himself. He was a self-remade man. He had faith in himself. But above all, he had a deep, touching faith in the peasants, miners, 
labourers and young unformed men and women whom he drew into his work. He fed them all an elixir of growth which often 

transformed nameless, uneducated people into leonine heroes. The elixir was fearlessness.  
196.  Consider the following statements  
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1. Gandhi was a great man throughout his life. 
2.  Gandhi liked the ordinary people and neglected the rich. 
3.  Gandhi transformed the ordinary masses into great heroes. 
Which of the above statements can be drawn from the above passage ? 
(A) 2 and 4 (B) 1 and 2 (C) 3 and 4 (D) None of these 

197.  Gandhi transformed the uneducated people by teaching them 
(A) work-mindedness  (B) self confidence 
(C) fearlessness   (D) heroism 

198.  Gandhi’s attitude to the labour class was one of 
(A) generosity   (B) pity  
(C) compassion   (D) fearlessness 

199. The word ‘leonine’ in the passage means 
(A) lean    (B) courageous  
(C) timid    (D) learning 

200. Among the given below words, which could be the synonyms of the word ‘elixir’. 
(A) Stock    (B) Solution  
(C) Capacity   (D) Avenue 
 

 
 


